Ihlporfént Note : 1. On completing your answers, cbmpulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

50, will be treated as malpractice.
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‘a..
b. Deten“'nine the analytic ﬁmctign f(z) =u+iv given that
u=e*(x cos 2y — ysm2y) (07 Marks)
2.4
c. Evaluate : I(zy X (07 Marks)
03) &
a. (06 Marks)
b. Evaluate j-e——~ dz where 'C : lz|=3 (07 Marks)
L@+DE-2) . ««
. T Ty 2
‘c. Iff(z) is analytic show th%“i@ ﬁax 5+ 5;—2— 1£(2) (07 Marks)
(06 Marks)
(07 Marks)

Z_x+1=a 0 (X)+bP(x)+ ch(x)ﬁ+ dP;(x) find the values of a, b, c,d. (07 Marks)

X OR
a Prove that P L(x) = L [ - ] | (06 Mérks)
. : ot ’ an ; V ‘
b. Prove that B (cos 0)=¢ (3 cos0+5co0s30). (07 Marks)
c. Provethat J_ i (X)y=,|—cosx. (07 Marks)
) ‘ 2“ W X
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g:grven to 4096 studeﬁts gare 2.5 and
‘answering correctf
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regression for the following data :

x|[1]2(|3 |4 8 |9
y|9|8[10]12 16 | 15
i (06 Marks)
The equations of regression lines of two* tiables x and y are x ==19.13 — 0.87y and
y=11.64 — 0.50x, find the correlation coéﬂiarent and means of x and§r (07 Marks)
Fita curve of the form y = a + bx for the followmg data hence find A atx = 15.
&
(07 Marks)
(06 Marks)
55,544 | i
g (07 Marks)
125 Tow
¥ (07 Marks)
The p.d.fof a variate x is given by thefoll
L X —2 bl
ey P(x). 0. X ; ! :
Find tlf‘é“value of K. Also find P(x > 0) and P(-2 < X 2) (06 Marks)
Denve the mean and Vanarice of the Binomial. distribution. (07 Marks)

6
If thé mean and standard dev1atlon of the number of correctly answered questions in a test

1. 875 Find an estrmate of the number of conditions

: iThe number ‘of accidents in a year to taxi drivers in city folloWs a Porsson drstrrbutron w1th o

‘mean 3. Out of 1000 taxi dnvers find approximately the number of the drrvers wrth
i) No accident in a year (= : :

11) More than e accrdent in year. : s ' : ,’ (06 Marks)

Find the value ofc’: such that £(x) = +° 0<x3 4 pd.f. Also find P(1 <x < 2)

W O elsewhere
‘ (07 Marks)
nal distribution 31% of the items are under 45 and 8% of the items are over 64. Find
¥: nd standard deviation of the distribution. (07 Marks)

20f3

‘8 or more questlons i) 2 or less : R e (07 Marks) f“.v.’?r
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10

i) Find e Jomt probab111ty of X and Y

; ’Deﬁne
. i) Null hypothesm ~ &
ii) -Type — I and Type — II errors

Mo dule-5

274

ii) Show that the covariance of XandY i

iii) Degree of freedom
iv) Level of Significance.

y (07 Marks)
4 coins are tossed 100 tlm§3» and the following results were obtained. Fit a binomial

{% os =949 for4pdf). (07 Marks)

hypothesis t;hat sexes are born in equal proportlons (10 Marks)
Random sample of 1000 engmeermg students from a city A and 800 form city B were taken.
It was found that 400 students in eaeh of the sample were from payment quota. Does the
ies in respect to payment quota

students? e ) (10 Marks)

20f2

21MAT41




